[21-BA 128/21-BS 132]
AT THE END OF FIRST SDMES’I‘ER (CBCS PATTERN)
MATHEMATICS-I - DIFFERENTIAL EQUATIONS
| (COMMON FOR B.A,, B.Sc.)

UG PROGRAM (4 YEARS HONORS)
- (w.e.f. Admitted Batch 2020-21)

Tiinég.S_IjI\ou;g s - 2 _ : Max. Marks: 75

SECTION A — (5 x5=25 marks)

o

Answer any FIVE questions.
L SPlVe»cosz-xg—y+ y=tanx
s LR X ‘ v

" cos? \,Z—y +y = tanx. -‘%vﬁbbd&. 33

2. V"Solve 'cdt+yd +_td-§ yc2lx R SRR
o 32 x +y
"4".'x:dac-!~yc17’y+xdy—y_d‘C

—— =0 %o@o-:.’)o&
oty o ay el

Y- 3 s ‘_:dy/: 2 dy v 2 R > y
8 Bolverx®io B Fay—--6y° =0, 5

x (dy) xydy 6y _O ﬁv@o:ﬁo&
dx dx.

4. Solve'ﬂj:2 —2pty +:l52(352 - 1) =m? ..

5y -2pxy+p x? 1) m? " FQodod.

5. . Solve (D‘*-sme)y:e“‘
(D?LBD+6)y =e" Go%od.

6. Solve:(D?-4D +4)y=x>
(D*-4D+4)y= 3 2B0Hod
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i d?y . dy g
7. Solve -—————G +13y 8(. sm X

. dy - dy+13y=3cd-\ sin 2% _@o@obo&.
dxz dx '

8. - Solve (D2 +1) y=secx by the method of variation of parameters

(D" + l)y secy oA JI°HY) 5&5@ w;go“ a’n@o:.’noc%

SECTION B-= (5 X 10 50 marks)

Answer ALL the questlons
P ) E
. ary. w3 dx

#5¥ey=5"logx Mpodod

.,Qr' P

(b) Solve y(ty +2x y )dr+t(ty 'czyz)dy 0
- R :{_(-}:y t?x__,y _)_si.;f -,tax({cys‘«—ixzyzf)dy='0 &@Oédg-e ‘g ude

-~ 10. () Solvep +2pycotx y

IJ +2pycotx -y #@o;ﬁo&

oy A . Sk, ¥

V& [er s

(b) Solve y+px =p x

o (a) Solve (D2-3D +2)y eokhs”
(1)2 —3D+2)y cosht: e«oo;soa
| 7. B ‘Or-
(b) ' Solve (D‘2 -4D +3)y = sm‘3tcos2x

(D2 ~ 4D+3)y sin 3xcos 21: x)vf;‘soéo&
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12. (@) Solve (D% =2D+41) v =8(x? + e 4 gin 2x)
o (D? -2D+4)y= 8(\ +c‘“ +8in2x) AQobdods.
| Or
()  Solve (D! +2D? + 1)y = 2% cosx
(D +2D? + Dy = x% cosx ABoBvod.

2 i~
13. (@) Solve 1‘2(’—_‘3’——3 dy —Z 45y =x%sgin (log x)
, » dx dx
dl
28 Y _ 3,9 ay +5y t sm(logt) @v@ox‘soc‘%
‘d«‘; . dx

('b) Solve [(1 + x)2D2 +1+ 2D+ 1]y 4cos log(l +x)
\ [(1 -*-‘_‘.1:)2402 + (1 ¥ x)D + l]y 4 cos log(l + x) Moﬁo&.-‘
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